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\HDF 1 TH 136 146 282 150
WLDF2TH 250 280 530 248
1T H 89 107 196 110
L2 T H 488 485 973 470
o BT 1 T B 260 305 565 277
o BT 2 T B 231 208 439 219
TEET 1 TH 149 147 296 151
FTEE2TH 238 235 473 224
FTEE3TH 306 310 616 278
R 1TH 143 183 326 165
R 2TH 156 212 368 215
FEET1TH 240 263 503 273
FEET2TH 192 2006 398 178
RLiEX1TH 354 400 754 391
RiEX2TH 168 193 361 190
KX 3TH 313 313 626 268
RLiExX4TH 220 205 425 198
AHE 1 TH 636 667 1,303 638
AHE 2 TH 335 361 696 297
<L 1TH 324 308 632 337
X<IL2TH 350 325 675 360
*<IL3TH 399 467 866 458
ZR1TH 589 673 1,262 613
EZR2TH 798 784 1,582 698
ZR 3 TH 921 932 1,853 825
&1 TH 332 312 644 294
& 2 T H 864 893 1, 757 767
& 3T H 996 987 1,983 928
x&B 4 TH 165 172 337 170
x&B 5 TH 62 62 124 40
= W H 600 576 1,176 543
2LtR1TH 763 770 1,533 769
21rtR27TH 144 150 294 116
=521 TH 591 668 1,259 584
=52 2 TH 250 243 493 283
m &a B 1,488 1,498 2,986 1,272
I\ =t 14, 540 15, 046 29, 586 13,997




[EHEMX]

% 5 ’f %
m H B 1,614 1,651 3,265 1,469
T 5 89 96 185 71
yis H 94 97 191 66
fid] 28 21 49 18
5 R 168 167 335 140
F H KW 93 93 186 66
= Mt 291 272 563 193
m % R 488 477 965 350
&R =] 170 190 360 135
DR H 257 232 489 199
Z & R 152 132 284 107
I\ & 629 580 1,209 498
it £ R 474 499 973 487
m T X 469 445 914 365
+ B R 348 315 663 321
B R 211 205 416 143
722 I 223 222 445 156
B = 197 210 407 153
iy %8 14 12 26 11
i K M1 A 113 175 288 178
I\ =t 0,122 6, 091 12,213 5, 126
[ ]
% R ’f %
7] 583 568 1, 151 460
S BX 620 064 1, 284 H94
2] R 114 110 224 84
2] fid] 113 111 224 82
1t 212 209 421 157
F HBAH 399 425 824 2718
% B B 147 154 301 106
I\ 5 2,188 2, 241 4,429 1,761
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% 5 éf %
+Fr &5 L 394 420 814 361
T A =Lt 657 650 1, 307 631
5 = 1,469 1, 445 2,914 1,236
M R 75 69 144 43
]I 1T H 151 160 311 135
]I 2T H 274 269 543 239
I\ ) 3,020 3,013 6, 033 2, 645
[ R L]
% 5 éf %
= A W 512 567 1,079 433
i R 113 107 220 85
PN pit 134 119 253 106
i [R 277 249 526 219
I\ ) 1,036 1,042 2,078 843
(382 1]
% 5 éf %
o [R 2117 208 425 150
I\ m B 70 57 127 51
w2 L 488 478 966 395
® B L 405 384 789 309
z I 279 248 527 226
z H 363 336 699 259
ey ] 48 40 88 38
F K/ H 106 102 208 84
I\ =t 1,976 1,853 3,829 1,512
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2 P H A 213 285 558 244
B H 363 345 708 294
R =z AN 164 145 309 136
it ¥ L 300 253 553 241
N\ 15 113 145 258 121
it ) 142 134 276 99
F H 147 139 286 105
2 A 141 118 259 104
X B 27 20 47 21
I\ ) 1,670 1,584 3,254 1, 365
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% 5 ’f %

2 P @ B 566 621 1, 187 481
X =2 H 263 2'74 537 243
R %8 141 162 303 112
L -2l 2117 202 419 156
2 K R 272 280 552 204
= H 409 388 797 307
I\ =t 1, 868 1,927 3,795 1,503
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% R ’f %

m 5 A 208 2117 425 155
A R 165 160 325 123
o] il 85 79 164 66
3F =l 5h2 47 99 40
X £ = 53 45 98 38
X A & H8 46 104 45
A B X 80 144 224 123
A L 138 117 255 103
I H 06 63 129 67
1\ B 905 918 1, 823 760
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JNE
B & R = = =
I 238 239 47T 208
A # 248 248 496 236
£ =2 F h4 50 104 47
] I 16 15 31 19
& 5 69 65 134 55
N 5 625 617 1,242 565
& (56 E8 A1 HIKE)
AL s
= 4 £t ™
33, 950 34,332 68, 282 30, 077




